АЭСЭР – 49+44=93.

DOCTOR ALEX – 49+44=93.

ДРУЖИНИН АНДРЕЙ – 49+44=93.

ИГРОКЕЗ – 49+44=93.

МАРИНА – 49+44=93.

МИНИСТРЕЛЬ – 49+44=93.

РИШИ – 49+44=93

СКИФ – 49+44=93.

СПИНДЛЕР БОРИС – 49+44=93.

СЭНСЭЙ – 49+44=93.

ТУСЯ – 49+44=93.

ШАРКАЕВ РАМЗИ – 49+44=93.

ВИЛ – 35+32=67.

АНТОНОВИЧ АНАТОЛИЙ – 33+29=62.

КОНТ – 29+23=52.

А.Н. – 44.

МАКОВСКАЯ АЛЁНА – 32.
АЛЕКС73 – 27.

ЛЕНУША – 26.
ОТВЕТЫ НА «ДИКТАТУРУ ИНТЕЛЛЕКТА» №2
ПО ГОРИЗОНТАЛИ: 4. Киджи. 9. Каразея. 10. «Пушка». 11. Гашек. 13. Кольдевей. 14. Цайлифо. 16. Милость. 17. Выкрутасы. 20. Чайлдгрув. 25. «Двин». 26. Гуахильо. 27. Ягати. 28. Итон. 29. Айядзони. 30. Эспри. 31. Амио. 32. Арбалет.

ПО ВЕРТИКАЛИ: 1. Пахолик. 2. Шалькотан. 3. Тегестологист. 5. Инай. 6. Жрец. 7. Вуэльта. 8. Акафист. 11. Гед. 12. Каирн. 15. Сычуг. 18. Агатарх. 19. Одзима. 20. Чиголи. 21. Вуайер. 22. Ехидна. 23. Клионе. 24. Бокий.
